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All questions are compulsory.

This question paper consists of four Sections A, B, C and D. Section A
contains 8 questions of one mark each, Section B is of 10 questions of
two marks each, Section C is of 9 questions of three marks each and

Section D is of 3 questions of five marks each.

There is no overall choice. However, an internal choice has been provided
in one question of 2 marks, one question of 8 marks and all the three
questions of 8§ marks weightage. A student has to attempt only one of the

alternatives in such questions.

Wherever necessary, the diagrams drawn should be neat and properly
labelled.



Qus A
SECTION A

1. =& S weed ® |, | @ fvea-gd i ged 7, fafe 1

JHBHAT, THbBSH, YOS, T

Write the two pre-fertilization events from the list given below :
Syngamy, Gametogenesis, Embryogenesis, Pollination

2.  TH UHl raumaierEh IRE (IUD) w1 AW fafge foreeht gema o1 safre ¢ d@ehd
8 fo muferr e sph1vpet & foe wfaea &1 s | 1

Name an IUD that you would recommend to promote the cervix hostility
to the sperms.

3. W & JTUR HEI-IuNadd (HicesM)’ &1 gl g ? 1
What is ‘saltation’ according to de Vries ?
4. ffafea @ @ 77 @& Fam ghw . 1

1) SH & weg “ufushe=” 1 21 g ufushar (i) favsaias dade |
(i) T ATE-H Bl B |

(iii) BN 3hIfd o gRT STl 1 ScdTed 1M BH & 2 |

(iv) e i § Tfthei o1 e T8 & dehdl |

Identify the two correct statements from the following :

(1) Apiculture means apical meristem culture.

(ii))  Spinach is iron-enriched.

(i1i)  Green revolution has resulted in improved pulse-yields.

(iv)  Aphids cannot infest rapeseed mustard.

5. Trel o @eh § ADA-3WE S T89H T3 B | THH HlE TH W ITER

gesT | 1
A boy has been diagnosed with ADA-deficiency. Suggest any one possible
treatment.
6. Torelt wiftad ® Icureerar o T = feu o1 w® wfiehtor § R’ s wfefeia st
8? 1
GPP - R = NPP

What does ‘R’ represent in the given equation for productivity in an
ecosystem ?

GPP - R = NPP
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T=S! A hal aidl IS Sl & ? 39 Ig A9 =1 feam T 2

Where is good ozone present ? Why is it called so ?

FEYATfad goni+ aret fopelt Tehtsht HehtoT B Fo, figl O fohan JehR o crerorseai
1 3T <kl ST 2

How many kinds of phenotypes would you expect in Fg generation in a

monohybrid cross exhibiting co-dominance ?

wus B
SECTION B

forET T shed <h1 ®EA bl o1 i &1 3ITd @ | Guese foh qie o1 =
forg TepR TR SITaT 2 |

Banana crop is cultivated by farmers without sowing of seeds. Explain
how the plant is propagated.

e JTeaTlel % 3 fm Wil % 9 faRge = 9 g geT I1vel a9 d%
FAdT ST 8 TS o v 8 STl He IEhY] T TET 7Y A |

List the different parts of the human oviduct through which the ovum
travels till it meets the sperm for fertilisation.

+-RNA T UHHIUHATH o1 8id1 &, T9msy |

Explain aminoacylation of -RNA.

fret T ToEe w1 AW faRen ot 399 3guTfid g W WHa SRR # @
Jrgfsea gt 7, faflm |

Name an allergen and write the response of the human body when
exposed to it.

G qAT BRUST B A9H H o1 Tr-Y g 2 AT IR T S8 O Yok hl o=
IHTE BT &, faRau |

How are morphine and heroin related ? Mention the effect each one of
them has on the human body.

HARR U 37d:95H4 &1 Haw GHATSU |

Explain the importance of inbreeding in cattle.

39 © g8l S % [T 390 T Al e S @ 2 §wesy |
Why is ‘starter’ added to set the milk into curd ? Explain.
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16. Ueh 3QTEW Sl GERA © HEIYehIIdl 1 2idl 2, GHesy | 2

Explain mutualism with the help of an example.

17. Safafagdn g s =R SR i =1 T | 2

ST
3 Uiads § AU by I oot o wigaett & =W fafey | wafawor
s W | 3 T Yo 9gdt i @ ? 2

List four causes of biodiversity loss.
OR

Name two metals used in a catalytic converter. How do they help in
keeping the environment clean ?

18. 3Tc] % Uh WY H Ueh A (o)) o1 Tshuvl g1 o1 B | 369 aRE-Hh 31T
9l Sl I S hl T oty w1 9w fafge ik 3ue foww # e | 2

A potato plant is infected with a virus. Name and explain a method to
obtain virus-free potato plants from it.

@us C
SECTION C

19. UH et b PO M 7 weEm oy % v e sR WWe a9
TN feh/emaTieh fohameharra Tefia fopr & S8 fop faspfafasm sememeTd qen
T TH & e e fu 384 T sifveri@ @ “wg smafa T8
Giéfthene T8 @ W ¥ |
FIT AT UH ThAThATl B U HUT ? Y I o U H HIZ I HRU
ERIELE 3

A few residents in your locality, for business gains, have established
small-scale industrial / commercial activities such as pathological labs
and fabric dyeing centres without obtaining ‘No objection certificates’
from municipal authorities.

Would you support these activities ? Give any three reasons in support of
your answer.

20. AgAdiEl § gEl e & g o Iaumal o AW AT | ¥ R YR s d
2 2 98 oft fafgu o Sfiwt & uf@eda & g et = fafa gt 2 | 3

Name the two end products of double fertilisation in angiosperms. How
are they formed ? Write their fate during the development of seed.
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M A gaifper W hs fgEet Gt foby of umnm fF Fy-or U enfera
Hedl 31U § 9gd - 3717 | T a0 hl HeEdl § I8eh! 34 @i &
fawa & "@emsT |

Morgan carried out several dihybrid crosses in Drosophila and found

Fy-ratios deviated very significantly from the expected Mendelian ratio.
Explain his findings with the help of an example.

forelt giafshed (@) $ob1s | ffeiflgd & 91T SIH &1 T SR 3
fHehT o fow™ § T AT @ hi TERAT § FHART ¢

I (IATH), TTEHICH S, TdhH |

With the help of a schematic diagram, explain the location and the role of
the following in a transcription unit :

Promoter, Structural gene, Terminator.

Eifde % Ad o TIHR TT TEUT o Jehe B ol G Ieh SIIa--=3hi o A1 &I
B B | FHITST |

According the Darwinian theory, the rate of appearance of new forms is
linked to their life cycles. Explain.

Teh Y& SRIME I3 I HIShd 3G SAT18Y |
AT
(a) T=feifaa T & Icqerehat Sfiai & Tm fafEu
(i) g
(i) gg (I=)
(i) eifeufam
(b) 3H THR & UM o A0 H Graol-eh e &7 58 ThR T8= &
gl 8 ?

Draw a labelled sketch of a typical biogas plant.
OR

(a)  Name the causative organisms for the following diseases :
(i) Elephantiasis
(i1)) Ringworm
(iii) Amoebiasis

(b)  How can public hygiene help control such diseases ?



25. TH WIHRL GHSAT H Tl A H, HH 3R FGIA gY I ¥d IR 9T Y
et UgATT ST TR HiST o | 3T dehleh ol A fafgy wd g fawg #
et ekl T | e qa SH1 hl T8 B Hoh IR I8 3ok
-39 TSR ! |IT & | 3
Following a severe accident, many charred-disfigured bodies are
recovered from the site making the identification of the dead very
difficult. Name and explain the technique that would help the authorities
to establish the identity of the dead to be able to hand over the dead to
their respective relatives.

26. SRINUFR fpg I O AR S@T 8 ? IEEIGAT SUINT H AT S 9T
ST qAT 3Tk fohral &l Teehl o I fafgu | 3
What is a bioreactor used for ? Name a commonly used bioreactor and
any two of its components.

27. U] 9Ty qAT 3Tk 39 WM Kl AW TRau fEehl FerissimeT shifHer Gshitd
AT 2 | I 9169 | ds-RNA % 3cUTeH H QFieiaeiied s Y[ieh Twesy | 3

Name the host plant and its part that Meloidogyne incognita infects.
Explain the role of Agrobacterium in the production of ds-RNA in the

host plant.
@E D
SECTION D
28. WAl § YGRS FeATST hl AT €Y H GUTET A1 34 (99T H THAST | 5
reran

AFASS | IWARTTSRA & Hohd 7, ATHICI-TWION & Thd & A1 A
- (3TTCH-STETAAT) B HWehell 8 | $90 | YAh o (AT A0l &1 Jui
HIT 3R FaRe foh 96 ¥ HH-A TH THR & Fa HAM: AA:ISHT qel

STRIIST oh! S¢dT ad 8 | 5
Schematically represent and explain the events of spermatogenesis in
humans.

OR

Angiosperm flowers may be monoecious, cleistogamous or show
self-incompatibility. Describe the characteristic features of each one of
them and state which one of these flowers promotes inbreeding and
outbreeding respectively.
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(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)
(b)

(a)
(b)

(a)
(b)

(a)
(b)

forelt oefi T § GIERRE <R o Toh HLchd Hisd I NG

SIST |
T H 39 Yok oh sh] o1 Aewd [OIRaU |

areran
Jafafaedr & G & 98 § 3Teqd: I, sAqehd: I qer Afdew
Toh T &, THEST |
Fo fvaa el o “erfercea” 1 wmn o Jafafagar e i 3T
Teh sheH o1 ohal JdT g 2 YR & fohegl af STREAA] o A1 fafgy |

Draw a simplified model of phosphorus cycling in a terrestrial
ecosystem.

Write the importance of such cycles in ecosystems.

OR

Explain the narrowly utilitarian, broadly utilitarian and ethical
arguments in favour of conservation of biodiversity.

How is designation of certain areas as hotspots a step towards
biodiversity conservation ? Name any two hotspots in India.

el § form fafor foe yer g1ar 8 2
gfert o e ayufee § gF arat fom fgior @ 98 fha yer fia g
77

YT
TSR Fe FA1 B B ?

ffafgd =t 9= -
UG Re; (Y Hhe; A Hhe; TFTH R |

How is sex determined in humans ?

How does it differ from sex determination in birds and honey
bees ?
OR

What is a genetic code ?

Explain the following :

Degenerate code; Unambiguous code; Universal code; Initiator code.
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